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Print

corrected

22 The third octet of the network ID is 1000 0000. The third octet of the host ID of all
ones is 0001 1111 (the first 3 bits are part of the network ID, remember). If we
append the network ID’s third octet to the host ID’s third octet, the result is 1001
1111, which is the decimal 156.

The third octet of the network ID is 1000 0000. The third octet of the host ID of all
ones is 0001 1100 (the first 3 bits are part of the network ID, remember). If we
append the network ID’s third octet to the host ID’s third octet, the result is 1001
1100, which is the decimal 156.
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